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1. 00000000 f(r,y)=2>+y20000 S={(z,9,2) €R®| 2= f(z,y)} 000000

(1) zy000O0O0O0O0OD z=r00000000000000000 f(x,y) =r>000
O (x,y) DODDODODOODOOODOOO

(2) (z,y) DOOO z=rcosh,y=rsind000000SO 6,2 000000

(3) (2)00000AODODODODOA=60 SOOD0ODO0O0O0O0OO00O00D00OODOOOO
SOO00O0oDOo

2.00000 g(z,y,2) =2 +y*—22—10000S8 ={(z,y,2) e R® | g(z,y,2) =0} 0000

(1) grad(g)(p) =00000 pO0 0000

(2) (1)0000 p0 SO0O0O0O00000000000S000grad(g)=000000
000000SO0000000

(3) SO00 :=k00000000000000000g(x,y,k)=00000 (z,y)00
00000000000

(4) (x,y)DOO0O z=rcosf, y=rsinf000000SO 0, 000000

(5) )0 00000 DODODOODOA=6,0 SO0O0O0000000O0O0O0O0O0O0O0O0O0O0
SOOobDoon

000000906/2800000000000000OOODOOOOOOOOODODO
00000 h(z,y,2) =2 4+y*—2200008 :={(x,y,2) e R® | h(z,y,2) =0}0000
(1) grad(h)(p) =00000 pODODO0D p0 SOODDOOOOOOODO

(2) SO00 =k00000000000D0D0COO0O0k=0000000000

(3) (x,y) DOOO x=rcosh,y=rsinf000000S0O 02000000

(4) 3)000000DDDOODODOA=60SO0000000000O0O0O

(5) (1)0 pOOO0O0O0SOOOOO0
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